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Cluster: 0085 ptr; resid: 0.45; r/c: 30/60

x.range

upstream meme PSSM #1; e=4.9e+05

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=6.8e+05

1 3 5 7 91 3 5 7 9
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14645

15595

18027
38930

14849
17029

17043

17172

50885

1808051305

1457

15281

16262

22510

29004

37533

39046

43507

45871

47239

47489

47558

47588

48489

48958
49488

49915

51214

54958
string −500 −400 −300 −200 −100 −1

47239−0.00
17029−0.01
29004−0.01
37533−0.02
17043−0.03
51305−0.05
47588−0.06
47558−0.07
49915−0.12
45871−0.13
17172−0.14
39046−0.17
15281−0.19
48958−0.29
18027−0.29
22510−0.31
50885−0.37
16262−0.38
48489−0.39
47489−0.42
54958−0.50
14849−0.54
18080−0.68
15595−0.77

1457−1.11
14645−2.60
51214−6.48
49488−6.51
43507−7.13
38930−8.93

log10(P) upstream meme1 2 log10(P.clust)=−1.29; 30 seqs; 30 uniq
c(0.5, 2.5)
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